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| EEEESHE (BBEE S 16 F£HE)
B | (kg2 — e p———
sunns| summ | T2 gurny| gamy | FEZT | BREEL | L.
miE miE DRT

1 32E KXiE.Z.A=2| 545 ha| 74 hal|k@E.Z.XE| 58 ha ha |2, 6,7, 8
o THE KiE.£. A2 306 hal| 55 hal|kE. =2 x| 34 ha ha |5, 6, 7, 8
3] :EE KHE.E. XZ| 604 ha 8 ha|k#W.£Z.XZ| 63 ha ha |1.2.3455678
4 FE KXiE.Z. A2| 17 ha| 16 hal|k@E =2 x5 20 ha ha [6, 7, 8
5 & KkiE. E. K% | 426 ha| 8.7 hal|kiE.E.X2| 46 ha ha |5
6| BB 2% x | 03 ha ha |[FEEXEF% | 0.3 ha ha |2
7T’t.’fl:% K. EZ. X2 31.2 ha 8.7 ha |Kk#E.£.X=E 34 ha ha |5, 6, 7
s ZEE e x | 12 ha ha |[FEEXEFxk | 1.2 ha ha |3, 4, 8
o ZEE JKFg 271 ha ha |7K#& 30 ha ha |1, 2
10| 22 WEHE.KE| 1.2 ha ha [E&%%. kE| 1.2 ha ha [6, 7
11| 22 e E N 1 ha ha [#E%5%. k| 09 ha ha |6
12| BE KFE.E.XZ| 626 ha| 243 ha|[kW.£.XZ| 66 ha ha |3, 4
13 BE KiE.E. XZ| 718 ha| 245 ha|kW.£.X2| 75 ha ha |3, 4
14] BE KiE.Z. X=Z| 768 ha| 299 ha|k#E.Z.XE| 80 ha ha [3, 4
15 BE K#E. E.X=| 302 ha| 19 ha|k®. = X=| 33 ha ha [3, 4
16] e TERErxk | 04 ha ha |[FBEXEFxk | 04 ha ha |1, 3
17| BB KiE ME. X5 | 334 ha| 254 ha|xE. 4z x=| 36 ha hal1,2, 5, 6,8
18 g@% KiE hE K| 236 ha| 6.2 ha kBB sz x| 27 ha ha |6, 7, 8
19 Eﬁg% Ki.nE.x2| 389 hal| 269 ha k@ rz=.%x2| 42 ha hal5, 6, 7, 8
20 2B TERErx | 02 ha ha |[FBExEr% | 0.3 ha ha |6, 7, 8
21 BB KF 45 ha ha | /KF& 8 ha ha |8
2 BB TERErx | 02 ha ha |[FBEXEF%k | 0.3 ha ha |5
23 RE TERErxk | 03 ha ha |[FBEXEF> | 05 ha ha |6, 7, 8
21 FE 25 | 02 ha ha |[FBEXEF%k | 02 ha ha |6, 7
25 RE TERErx | 02 ha ha |[FBEXEF%k | 02 ha ha |6, 7, 8
26| RE TEeRErx | 0.1 ha ha |[FBEXEF% | 01 ha ha |6, 7, 8
21| e TERErxk | 05 ha ha |[FBEXEF> | 05 ha ha |5, 6
28| RE =33 ha ha |EHK ha ha |8
29[ EE KiE. EwHE| 329 hal| 148 ha |[k#E.E#Hx| 36 ha hal|l, 2,7, 8
0| 2 TEaxErk | 06 ha ha |FBEXEF% | 06 ha ha |7, 8
31 RE TERErx | 02 ha ha |[FBEXEF% | 02 ha ha |5
[ RE TEexErxk | 05 ha ha |[FBEXEF% | 05 ha ha |7, 8
33 e TEaxErxk | 05 ha ha |[FBEXEF% | 0.7 ha ha |7, 8
34 RE TEexErxk | 0.7 ha ha |[FBEXEF% | 0.7 ha ha |6, 7, 8
35| e TERErk | 02 ha ha |[FBEXEF%k | 0.2 ha ha |6, 7, 8
36| e TEexErxk | 05 ha ha |[FBEXEF%k | 05 ha ha 6, 7
37 RE TEexErxk | 05 ha ha |[FBEXEF% | 05 ha ha |6, 8
38 e TEexErxk | 09 ha ha |[FBEXEF% | 09 ha ha |6, 7, 8
9] e TEaxErxk | 06 ha ha |FBEXEF% | 06 ha ha |5
0| ZRE TEexErxk | 0.3 ha ha |FBEXErk | 04 ha ha |5
M| RE MEiRit= | 02 ha ha [fEs%it= | 0.2 ha ha [6, 8
w| FE 7K % 16 ha ha [/KFE 16 ha ha|5, 7, 8
3 FE MEzRit= | 03 ha ha [fEs%1t= | 0.3 ha ha [2
s RE MEEFHR | 06 ha ha [fEE%%%& | 15 ha ha |5, 6
45 Eﬂ% Kig.hE KT | 43.6 ha ha |k#&.h&. K2 47 ha ha 6, 71 8
6] B MZ e | 0.7 ha ha |fE-%EF% | 0.7 ha ha |5, 6
a7 RE *059>>a| 0.2 ha ha |[k0oF9>oa| 02 ha ha [1
8| RE MRS | 02 ha ha [FEER{EE | 02 ha ha [3, 4
a9 ZE ki 2 X2 | 744 ha| 93 ha KB 12 X2| 77 ha ha[2,5 6,7, 8
50 R ZHx kwE| 106 ha ha |BEtBZ. k%[ 10.6 ha ha [6, 7, 8
51 BE ki M2 A2 931 ha| 21.9 ha |[*E. M2 x2| 96 ha ha [1.2.5.6, 7,8
52 RE k.02 X5| 88 ha| 71 ha|[xE2EXxE| 91 ha ha[3,4,6,7, 8
53 Eﬂ% KiE. MEKXZ| 653 ha 79 ha |k#&.h&. K2 68 ha ha 1, 31 4
54 R Zerx | 05 ha ha |fE-%EF% | 05 ha ha |6, 8
55| e MREE | 05 ha ha [FEER{EE | 05 ha ha [5
56| e MZ ey | 05 ha ha |fE-XEF% | 05 ha ha |6, 7
571 e 2 erx | 04 ha ha |fE-%EF% | 04 ha ha |3, 4
58 BE ERHE. KE| 21 ha ha [E®&Z. k8| 2.1 ha ha |6, 7
59| RE MEEFHR | 03 ha ha [fEE%%%& | 0.3 ha ha [3, 4
60 e Tex ey | 03 ha ha |28 % | 0.3 ha ha |3, 4
61| BE WRHE.AE| 1.1 ha ha |[E%H%.kwE| 1.1 ha ha |7, 8
62 e Fazgie= | 0.3 ha ha |[fBexit= | 02 ha ha |8
63 e %ZH®% | 02 ha ha |2 8% | 0.3 ha ha |2




e MXErE | 04 ha ha [fex 7k | 04 ha ha |2
e MXErE | 05 ha ha |[fEaxEre | 06 ha ha |2
e MXEr % | 03 ha ha |[fEaxEre | 0.3 ha ha |4
e MXEFE | 21 ha ha |fEexEre | 2.1 ha ha |2
e fEaxit= | 09 ha ha [fEz%it= | 09 ha ha |5
>3y BREE.KE| 1.4 ha ha |#%%X. kM| 0.3 ha ha |5, 6
e ME:RErx | 06 ha ha |fEax 27k | 0.6 ha ha |3, 4
= BREE.KE| 29 ha ha |#&HR. kM| 2.9 ha ha |5
e Mait= | 1  ha ha [fEz%it= | 1 ha ha [6, 7
e ZBiuwHE. kwE| 15 ha ha |#®%. k| 15 ha ha |6, 7,
e WREHE.KE| 4 ha ha [E&%%. k| 10 ha ha [7, 8
| RE fBEZAEE | 05 ha ha [MEEX{EE | 06 ha ha [5, 6
e ZBiuwHE. kwE| 21 ha ha |#®%. kfE| 2.1 ha ha |5
—2E FETE= | 05 ha ha [TER7E= | 05 ha ha [1
—2E FRft= | 05 ha ha [FER27E= | 05 ha ha |5
BEL %% % | 03 ha ha [ffEs%2r% | 03 ha ha |3, 4
RE MEERIES 1 ha ha [fBEXTES 1 ha ha |6, 7
e T HE | 15 ha ha a2k | 15 ha ha [1
= wRHE. KkE| 04 ha ha |HE&HR. KE| 04 ha ha |2
= wRHE. kE| 04 ha ha |HE&HR. KE| 04 ha ha |2
EBES HRHE.KE| 1  ha ha |HEEBR.KE| 1  ha ha |5
IS fEREE-KE| 08 ha ha |E&E= k76| 08 ha ha |3, 5,
IS EREEKE| 25 ha ha |lE&E=KiE| 2.5 ha ha |1, 7
RS EHE. k@] 04 ha ha [EH%. k| 04 ha ha |7
SRS BHHE K| 08 ha ha |BHE.k%E| 08 ha ha |4
IS EREE-KE| 05 ha ha |E&iE= k8| 05 ha ha |6, 7,
IS fEsRiEE- K| 0.7 ha ha |E&iE= k78| 0.7 ha ha |6, 8
IS = kE| 04 ha ha |E&iE= k8| 04 ha ha |6, 8
IS EREE-KE| 1.8 ha ha |lEE=-K7E| 1.8 ha ha |6, 7,
S msEEE-kfE| 06 ha ha [z k%E| 0.6 ha ha |3, 4
§IJL§ MEEREREE. KT 1.2 ha ha |MEEEFE. kiR 1.2 ha ha |3
SRS fe%HE. kX%E| 15 ha ha [E&B%.k%| 15 ha ha [6, 7,
2= fEs%it= | 0.1 ha ha |fizk{t= | 0.1 ha ha [1
T R x | 02 ha ha |ex ¥k | 03 ha ha [6
T EE %% | 1.3 ha ha [Es%2r% | 1.3 ha ha |7, 8
?,% ez xsaesz| 1.3 ha ha [w# r2 x= assz 4 ha ha |4, 6,
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